Rivet 3.1.10, = 2.6M events

1077

[EEY

Ratio to ATLAS

0.5

8000 GeV pp Z (Drell-Yan)
_l T T T T T | T T T TT T | T T Tl | T T T T T | T T T TTT I_
y" (500 < m < 1500 GeV)

|
- &—:E—ZE-:E-:E-eaa.g.t_ngqm“gq u —
- -""!m.\ - ] ]
- W :
| m ATLAS AN —
— - o- Pythia 6.428 390 \ -
~ - 0 Pythia 6.428 391 kY _
[ -4 Pythia 6.428 392 o A
|« Pythia 6.428 396 -
-%-- Pythia 6.428 397
-~~~ Pythia 6.428 398 =
N I P D DT B
o §_—:_-;.;;-:;-:£-:§r:s-si__ i f:‘-:%.ff‘?i*is%\ i
| T .\—-~T%-=‘.=::-—___ eﬂ?:f/‘/ .\~\;:'§$ —
Srasgg -8

| 1 1 N B 1 1 1 | 1 1 T [P | PR B 1 1 1
0 0.5 1 1.5 2

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


